 EQ \b(4b-3)\b(7-b) = EQ  \b(4b-3)\b(-b+7) = EQ  -\b(4b-3)\b(b-7) = EQ  -\b(4b\s\up8(2)-28b-3b+21) = EQ  -\b(4b\s\up8(2)-31b+21) 
 EQ \b(2a-b)\b(4b-3) = EQ  8ba-6a-4b\s\up8(2)+3b 
 EQ \b(5x-4)\s\up8(2) = EQ  25x\s\up8(2)-40x+16 
 EQ \b(4x-1)\b(x+8)+\b(x-7)\b(1-2x) = EQ  \b(4x-1)\b(x+8)+\b(x-7)\b(-2x+1) =

= EQ  \b(4x-1)\b(x+8)-\b(x-7)\b(2x-1) = EQ  \b(4x\s\up8(2)+32x-x-8)-\b(2x\s\up8(2)-x-14x+7) =

= EQ  \b(4x\s\up8(2)+31x-8)-\b(2x\s\up8(2)-15x+7) = EQ  4x\s\up8(2)+31x-8-2x\s\up8(2)+15x-7 = EQ  2x\s\up8(2)+46x-15 
